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Instructions

1. New section on new page
2. Honesty is the best policy.
3. Rough work at the last page should be in proper manner too

SECTION-A
Ql. The TMS demanded the right to continue their livelihood by organising . 1 Mark
A Rallies B Chakka Jams (Road blockade)
C Bothaandb D None of the above
Q2. This refers to buying and selling in large quantities. Most products, including vegetables, fruits and flowers have special wholesale markets. 1 Mark
A Sellers. B Retail. C Wholesale. D Shopkeepers.
Q3. How much is the earning of Swapna from cotton cultivation. 1 Mark

A Earning from cotton cultivation is barely more than her earning if B Earning from cotton cultivation is significantly more than with her

she would work as a labourer. earning if she would work as a labourer.
C Earning from cotton cultivation double with her earning if she D Earning from cotton cultivation less than with her earning if she
would work as a labourer. would work as a labourer.
Q4. Fall of night signifies: 1 Mark
A Dusk B Morning C Dawn D Aftenoon
Q5. Which of the following has contributed to increased productivity, and a reduction in the number of textiles workers in the Australian textiles 1 Mark
industry?
A Increased consumer awareness B Increased environmental sustainability
C Computer-aided manufacturing D Development of technical textiles
Q6. Question. Small farmers are exploited by: 1 Mark
A Consumers. B Producers. C Big traders.
Q7. Fillin the blanks with appropriate words. 1 Mark
Chain of markets link the producer to the
Q8. Fill in the blanks with appropriate words. 1 Mark
Women are employed in garment factories as helpers on wages.
Q9. Fillin the blanks with appropriate words. 1 Mark
Cultivation of cotton requires high level of inputs such as and
Q10. State whether the given statements are true or false. 1 Mark

Markets offer equal opportunities to all.

Q11. The foreign business person made huge profit in the market. True/ False 1 Mark
Q12. What do you understand by putting-out system? 1 Mark
Q13. Why did Swapna borrow money from the local trader? 1 Mark
Q14. Why do you think more women are employed in the Impex garment factory? 1 Mark
Q15. When cotton is harvested? 1 Mark
Q16. What is a ginning mill? 1 Mark
SECTION-B
Q17. How are small farmers dependent on local traders? 2 Marks
OR
How are small farmers in the grip of the local trader?
Q18. How garment exporting factories maximise their own profit? 2 Marks
Q19. How is the merchant benefited in this system? 2 Marks
Q20. Do you think the workers get a fair deal in India? 3 Marks
Q21. Describe the conditions of employment as well as the wages of workers in the garment exporting factory. Do you think the workers get a fair 3 Marks
deal?

Q22. “Local traders play an important role in life of small farmers.” Why? 3 Marks



